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Meeloh is also by a K’zayis — notoa TSy OR

OVERVIEW

°27 maintains that there is a in>» 211 for 7712 7%°vn and derives it through the v
of Xvn X from 7170, and just as by 7170 the 707 2vn for a 7r who eats 71N is
n°1a3, similarly by 7%°vn the an 211 is (if he ate) a n°r3. Our NM»dOIN discusses the
view of the 1121 regarding 79V 2.

nooIn asks:
= 199 N0 RUN RON 9997 INNT YIWN RINT PNYY 1°29Y NN

The °"1 is astounded; for here it seems that whoever derives 72°y»n from 72170

through the w" of Xur X, maintains -
12999 925 5’192 NYIYNY

That the ;79°v% 271 is n°ra3, just as by 72190 where the 2rn is N1 -
— MW 1991 179 ION 1191

However everyone agrees to the @'t of xvn xvn (even the 1127) -
- NIV 99505 HNINN NPIN Y Cow ntox NININ “PI9aT

For in 73737 P95 we derive 7%°v» from 72770 regarding many rules through this
W -

- 7999193 XY 12 *25097 DIUN NI 12IPY NIN Y9N 9999 NY 1329
And the 3129 do not argue with 521 regarding the "1, only regarding 7no» by
72°v1 do the 7327 maintain that there is no 7n°n 217 (despite the w"1) since by 7170
it is written 121 93 1nM1; the word 12 is superfluous, so we interpret it to mean that

only 13, by 2170, is there a 7n°» 21’1 but not by 79%w» -
- 19591 19395 NN D019 MY NN KY 9NT 99994 13297 NNPYV NN )9 ON)

So therefore (since the 7127 also agree to the w"13) what is the reason of the j129
previously, where they stated; ‘they did not say the requirement of a "2 only
regarding 579 (there is a 7%°v» 210 if the 79°y7 was in a 5"Ww) -

919 12 XY S1y HmyIna Yan

! Regarding 177°vn the 77N writes (10,7 X7P) "3 “WIpn MW aRumM ¥n 2wnn °> wol, and regarding 77N the 771N

writes (0,20 [IMKR] RIP*1) A1 1NN ROI 1OV IR RO

% In the earlier editions it reads 797 (instead of p7927).

3 See 2,m 72°yn where the Xm3 states; 7371 DAOW M 71N DND AMIND MART ROA 772 727912 KON IR 721902 ROT K]

T3 DADW MY AT DXID 792°YN2 AR RO AR NTLW WYY MW YRR 10 WIPN2Y TARD INRIT N1 7373 12 2ADY 1272

MMOW WYY MHW YRR 1A WIPN2T TARD DRI INNA0T 7101 12 2M0w 12730

4 0,23 (7IMK) RPN states (regarding 7mN) that 177997 3 12 \mY; that there is a 7n°» 20 for a 71 who eats 717N,

59,94,

% Moo may also be asking why by 770 is a n°T2 sufficient perhaps it needs a n°r and a 9" (like 72°97). See A0 WXA.
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However by mm1an there is no 211 for a 71 eating 72170 unless there is a nr>’
(regardless whether there is a 5" or not). The question is why do not the 1127 derive from the
w" that by 7%9°yn as well (as 7m17n) the 72°¥n 210 is only n°1d2 (regardless if there is a 5" or
not). moon does not answer this question.’

SUMMARY
The 1121 should agree that 712°¥» requires a n°12 (from the 21707 XV Ron W'").

THINKING IT OVER

1. Is Mmoo question that we should derive from 72170 that all 72°v» is n°122 (even if
it is (just) 7817 from wPn (not only 79°3X), or is MdOIN question that only 72°¥» of
975X should require a n°12, but not 79°v» of X177 (that can remain a 5")?

2. Can we answer Moon question® that the reason the 7121 maintain by 7>°¥n that it
is "W is because they follow 770X *PIXY 71297 117, SO just as IRIT NO°R by 79°v7 is
"2 (see previous question), so too 729K MO is 8" wa?’

7 See “Thinking it over’ # 2.
¥ See footnote # 7.
? See X"wn.
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